Financial Reporting & Analysis

Tutorial # - 8 – Valuation of Business - Topic # 9– Solutions

1. Break-up- $0.125 per share, Replacement- $1.95
 per share, Earnings yield - $1.80 & Dividend yield-$1.35

2. $200,000

3. Value of 250 shares - $1.116 x 250 = $279

4. Book Value of Business-$270,000 , Book Value per Share - $2.70

Replacement Value of Business-$725,000, Replacement Value per Share-$7.25

5. Break-up - $2.69

Replacement - $4.22

Dividend yield - $3.00

Earnings Yield - $6.00

6. Book Value - $1.60
Break-up - $0.94

7. Dividend Yield - $1.66

P/E Basis - $1.80

8. P/E Basis - $1.62

Book Value - $2.03

Liquidation - $1.95

Replacement - $3.19

Dividend Yield - $1.50

9. 9-6


[image: image11.wmf]33

.

713

V

3

op

=



a.
0            1            2            3            4



|            |            |            |            |



        3,000,000    6,000,000   10,000,000   15,000,000

Using a financial calculator, enter the following inputs:  CF0 = 0; 
CF1 = 3,000,000; CF2 = 6,000,000; CF3 = 10,000,000; CF4 = 15,000,000; 
I = 12; and then solve for NPV = $24,112,308.


b.
The firm’s terminal value is calculated as follows:
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c.
The firm’s total value is calculated as follows:

   0           1           2           3           4           5

   |           |           |           |           |           |

          3,000,000   6,000,000  10,000,000  15,000,000  16,050,000

PV = ?                                      321,000,000 = 
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Using your financial calculator, enter the following inputs:  CF0 = 0; CF1 = 3,000,000; CF2 = 6,000,000; CF3 = 10,000,000; CF4 = 15,000,000 + 321,000,000 = 336,000,000; I = 12; and then solve for NPV = $228,113,612.


d.
To find Barrett’s stock price, you need to first find the value of its equity.  The value of Barrett’s equity is equal to the value of the total firm less the market value of its debt and preferred stock.

Total firm value


$228,113,612

Market value, debt + preferred
  60,000,000  (given in problem)

Market value of equity

$168,113,112
Barrett’s price per share is calculated as:
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10. 9-7



FCF = EBIT(1 – T) + Depreciation – 
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    = $500,000,000 + $100,000,000 - $200,000,000 - $0


    = $400,000,000.


Firm value = 
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           = $10,000,000,000.


This is the total firm value.  Now find the market value of its equity.


         MVTotal
= MVEquity + MVDebt

$10,000,000,000
= MVEquity + $3,000,000,000

        MVEquity
= $7,000,000,000.

This is the market value of all the equity.  Divide by the number of shares to find the price per share.  $7,000,000,000/200,000,000 = $35.00.

11. 9-8
a.
Terminal value = 
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 = $713.33 million.



b.
     0        1        2        3        4                N



     |        |        |        |        |      ( ( (      |



             -20       30       40



($ 17.70)



   23.49



  522.10                       753.33


 $527.89


c.
Total valuet=0 = $527.89 million.



Value of common equity = $527.89 - $100 = $427.89 million.



Price per share = 
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